Leaders & Completist

L&C FIX BASEPLATE Kit
SWIFT FIX Kit

Brochure

L&C Corporation Co., Ltd. www.Inccorp.com

AAMLE 2GiAl XHS 242 181 Inccorp1001@Inccorp.com
T : +82-(0)55-909-0041 F : +82-(0)55-909-0042




Leaders & Completist

L&C FIX BASEPLATE & SWIFT FIX

= 7t2HE0E AMEXH 7I0|E8 Z&st IO AR XL L&C FIX BASEPLATERF SWIFT FIX

O REA HAK A|AHZ X[Ciot 2ES = UL E THELICH YHHE Ol TAKXQF 7HE F At
O|F2 &K ZH7|o Z2H M2 2ot QY2 S 20| SESHD X400 2o 2 HHYZ0|
HY E|X| &EAH FX| Al ZE = UFLCH

o

HAHOf

ofro
Ral
of
rot
e
rn
k=)
fo
-4
I
-
Inl
N
or
rot
ot

— iT = o 0 AL
Nl s EE52 4310 JSLHCH

CHEO 2715 = LHE2 24 HAN AL S Ztist 28 + A= dE-S LUstD AS

[—— = o —
LIt
712 HANY
DaMFol FE HEle 321 H2|0|H, BE #&F2 1F A 5T Z21:139)

0xTlo
ot
s

|Ct.

X|ZOQIEE AMEGIH I}
X E =ETH7| 2|l
2 ME8L|0{0F gL}

ork

of JHT & 09k i
10
Ral

b |m
o

—_

0x [m okl Nk
27|r r@ b ox
0Z olr

|'|-| rII gﬂllﬂl |'|-|
rE rot

ne
|o

OF

l= 3% - RED
27 - GREEN
M - BLUE

NN N
MY HY HA
mjo mjo r2
nix i MO
oz oz nx
OF Ok ot
rirrir

[EEN

bl

0x % okl

L&C Corporation Co., Ltd. www.Inccorp.com

AAMLE 2GiAl XHS 242 181 Inccorp1001@Inccorp.com
T : +82-(0)55-909-0041 F : +82-(0)55-909-0042




Leaders & Completist
L&C FIX BASEPLATE FX-BP400/600

Metrology Fixtures2| 7}7% 7| 224 = H|0|A Z2|0|E Y LT
H|O|A Z2{|0|E= 400mm x 600mm x 15mmO|0{ 2|X|

273 S20|EE AIEBIA CMM2)
gerof HelstA fx[2¥s & &+ As UL
N
=

HIO|A Z2{|0|E S8 0|l= ExX| AME PHE0{Z =210|=E
CMMZL| HHH0| A3 K| E e

S HAES 255 4 QoA
S 2AA7|X| QD ECEH H0jA 220[£0] 9iX| 0SS ¥ +
UELICH 912 BKIZ ALSSHH of2f Fo| oA B 0|ES HAT & UBLIC

L&C Corporation Co., Ltd.
dYEE dojA| TIE S 242 181

www.Inccorp.com
Inccorp1001@Inccorp.com
T :+82-(0)55-909-0041 F : +82-(0)55-909-0042



Leaders & Completist

crAE JHE A O|A0 S0 UL

SWIFTFIX7|E= 12k Z202 QI
o M 7HX] 28 S AP = ASFLICL
SWIFT FIX BRONZE KIT - Beginner kit (46 Elements)
SWIFT FIX SILVER KIT - Middle kit (66 Elements)
SWIFT FIX KIT - Advanced kit (93 Elements)
NOTE
2 J}E2 1.5 L&C FIX BASEPLATESEP SWIFT FIX2| T+d& CiE20f CHsHA 7[=5ta AKX TH
X 42 = UASLICL

o= IMZ0 M= 7|28 0f 2

www.Inccorp.com
Inccorp1001@Inccorp.com

L&C Corporation Co., Ltd.
dYEE dojA| TIE S 242 181

T : +82-(0)55-909-0041 F : +82-(0)55-9209-0042




STAND-OFFS
Order Code Description
FX-S016/20 Stand Offs - 16dia x 20 long
FX-S016/30 Stand Offs - 16dia x 30 long
FX-S0O16/50 Stand Offs - 16dia x 50 long
FX-SO16/100 Stand Offs - 16dia x 100 long
FX-S020/20 Stand Offs - 20dia x 20 long
FX-S020/30 Stand Offs - 20dia x 30 long
FX-S020/50 Stand Offs - 20dia x 50 long
FX-S0O20/100 Stand Offs - 20dia x 100 long

Leaders & Completist

AHE QIEE TEHo| YRO|EOR 7 OH=CO|F H2|Eof = FLict,
obEH 222 E0| S O|8HA S 1HS 93 B BT 202 A 2T T 4 ¥
£Z 43 7130| =of FLTH

PIN STANDOFF FX-SO/PIN

TARME oo = 2iChot o2 [P ES XA &+ A2 &E NS S8 HEL
W0 7t ol H ILICE

L&C Corporation Co., Ltd.

BHHE oA TS5 =42 181

www.Inccorp.com
Inccorp1001@Inccorp.com

T : +82-(0)55-909-0041 F : +82-(0)55-9209-0042



Leaders & Completist

STANDOFF MAGNET FLAT FX-SO/MAG

ABC QI OIY B AL AT HB DY I Kt 2HB0|0 70| Hoj2S
UohD Y2 g2 BeAE| MZo|Lt R2| MZS DHSHEH 08 4 YLt

FIXTURE for PLASTIC BOTTLES

Plastic Bottle Fixture

H|O|A S0 E0| DA S3HS 371 1ot SetAE Ho| A= KW X0t
HEo = Q2 S22 NES UHoH 28g = ASLIL

L&C Corporation Co., Ltd. www.Inccorp.com
dYEE dojA| TIE S 242 181

Inccorp1001@Inccorp.com

T : +82-(0)55-909-0041 F : +82-(0)55-9209-0042




Leaders & Completist

CLAMP ELEMENTS
FX-SUP/STOP

FX-TOG

FX-PLUNGER

Clamp elements, Support Stop, Toggle Clamp and Spring Plunger

1o 37kX|o| 2HUH QoA 237 SUY, E2 2HE 8 ILAZE SIHLE HSLICH
ALEAE 7HY Hetot 2Y8E 45 HESiM HE8Y = ASLICL
HE SH2 AHME @u ZTAEQ o AL8Y = ol 2 21t E0| HHE AFEsHAM 5t
= /X2 st 1Y 4= USLCL
TENSION CLAMPS
HM SUz= SEE2 1ES (0o AISSHA & = A= 2T LS MS2 L 23
T 20| SEE0| A ot 2FH LHO| FU5IH Tak &S 7N 2T H UESHA
M=ol n7d 2egs Ot == AL
FX-POST — FX-CTMED
>
FX-CTSML

FX-SPRING

Tension Clamps-Spring, Small and Medium

L&C Corporation Co., Ltd. www.Inccorp.com

BHHE oA TS5 =42 181

Inccorp1001@Inccorp.com
T :+82-(0)55-909-0041 F : +82-(0)55-909-0042




Leaders & Completist

AZY SYDE £ 9 ZHOE ASY
4+ 9lon B4 %0 9 Lt 2D
£ T2 4 AL

FX-SPRING
FX-POST

Locking the Tension Spring Clamp to the Post

TEMS TAEO| EFHAS S0|81H 8D
FX-CTMED
FX-POST

Medium Tension Clamp and Post

2 Sl Y F-ZE= MEZE oSt & A8E + A2 5| Vee Locators
[

FX-CTMED
FX-POST

FX-SUP/STOP

Medium Tension Clamp with Post & Vee Locator

L&C Corporation Co., Ltd. www.Inccorp.com

AAMLE 2GiAl XHS 242 181 Inccorp1001@Inccorp.com
T : +82-(0)55-909-0041 F : +82-(0)55-909-0042




Leaders & Completist

SUPPORT STOP ASSEMBLY FX-SUP/STOP

MNEE AR G{HEL|E ABE QT TAEQ S At 5= QO M| 7HX| 7|s0]
ol |C}
A H .

M8 x 16mm Capscrew

End Stop Small Vee Thumb Screw

VEE LOCATION FX-VEE

VEAHOIM2 AME QI ol M-SR ELF 2

—
HMEO 8 = JA=E A7[E 7|8 = ASLICL

EXAMPLE M8 x 20mm Capscrew

Large Tube used with Vee Locator

L&C Corporation Co., Ltd.
dYEE dojA| TIE S 242 181

www.Inccorp.com
Inccorp1001@Inccorp.com

T : +82-(0)55-909-0041 F : +82-(0)55-9209-0042



Leaders & Completist

LATERAL PRESSURE PIN FX-SO/PIN

ST YL S Y= 0@ XS BE22 2UHsH &2 EHA MEFS
nEg = ASLHECL

Clamp Lateral

Atefl= 371 ABIE ot 3740 HH S YMI 1712| S2t0|HE O|8dAM &i2
YUY HES 28ot= Atg gL

S2t0|C 220f fet SR SUTE 9| ZHO| WA RUMS HBELCE 120 M
S U2 HWS £ 9002 AIAYS IR HENOR A8Y + USLICL YHOR =0
Y SUDE ZHE TOR $7/7 Tmm FE O 0|53 O £20lH 222 HILITL B
20 o2t 2HE +& YLt
FX-SO/PIN
FX-SO20/30
FX-SO/PIN FX-SO/PIN
FX-SO20/30 FX-5S020/20
FX-SLIDER
FX-THUMB

Lateral Pressure Clamp example

L&C Corporation Co., Ltd. www.Inccorp.com
dYEE dojA| TIE S 242 181

Inccorp1001@Inccorp.com
T :+82-(0)55-909-0041 F : +82-(0)55-909-0042



Leaders & Completist

UNIVERSAL JOINT FX-UNI/JOINT

wLHE ZOEE OUSHA ZHEE =Foh=H AFEotH, RLIHE ZAES 6mm LHX[S
o] 88 H4EE n8Y =+ ALt

HEIGHT ADJUSTER FX-HEIGHT

FX-HEIGHT

www.Inccorp.com
Inccorp1001@Inccorp.com

L&C Corporation Co., Ltd.
dYEE dojA| TIE S 242 181
T :+82-(0)55-909-0041 F : +82-(0)55-909-0042




Leaders & Completist

250mm PILLAR FX-PILLAR/250

FX-PILLAR/250
Zet= F 709l &%0| LIALE o] 88liA
HO|E EE= CMM HUto| 0™

S AzmE 2

O|HA olH &
& L|Ct.

A H

UNIVERSAL ARM (Optional Not in kits)

FX-CLAMP

FX-THUMB

FX-ARM

L&C Corporation Co., Ltd. www.Inccorp.com
AAMLE 2GiAl XHS 242 181 Inccorp1001@Inccorp.com
T : +82-(0)55-909-0041 F : +82-(0)55-909-0042




Leaders & Completist

CONE FX-CONE

EN ARE QT MEEE O|&8{A
z¥22 Bs ¥ 4 &L

STAN-OFF SUPPORT FX-SO/SUPP

SLIDER FX-SLIDER £210|C19F 20| LIALS: 3171 AFE o}

B OAN 2F0| Ho]A S 0|EQ| £
Y OX|F LKAISHA| @= FoA EA
g = AA sHE UL

THUMBSCREW FX-THUMB

TOOL FX-TOOLS

L&C Corporation Co., Ltd. www.Inccorp.com

AAMLE 2GiAl XHS 242 181 Inccorp1001@Inccorp.com
T : +82-(0)55-909-0041 F : +82-(0)55-909-0042




BEC2E

Leaders & Completist

Elements Part Number Image Elements Part Number Image
16dia x 20 long FX-SO16/20
16dia x 30 long FX-SO16/30
16dia x 50 long FX-SO16/50
16dia x 100 long | FX-5016/100 Tool kit(Tools,
Allen Key, Cap FX-TOOLS
20dia x 20 long FX-S020/20 screws a
Lubricant)
20dia x 30 long FX-S020/30
20dia x 50 long FX-S020/50
20dia x 100 long FX-S020/100
Stand Off Pin FX-SO/PIN Universal Joint FX-UNI/JOINT
Stand Off
Magnet FX-SO/MAG Toggle Clamp FX-TOG
Stand Off . .
Support FX-SO/SUPP Vertical Pillar FX-PILLAR/250
Tension Post FX-POST Thumbscrew FX-THUMB
Lateralpfr:essure FX-LATMED Vee FX-VEE
Spring Plunger FX-PLUNGER Articulated EX-ARM
assembly Arm
Tension Clam >0mm
~lamp FX-CTMED Universal FX-CLAMP
Medium
Clamp
Tension Clamp FX-CTSML Nylon Cone FX-CONE
Small
Slider Block FX-SLIDER Height FX-HEIGHT
Adjuster
- Base Plate
Spring Clamp FX-SPRING M8 Tap Eﬁ::ﬁiggﬁggg
Pith 25mm
Support :
Assembly FX-SUP/STOP

www.Inccorp.com
Inccorp1001@Inccorp.com

L&C Corporation Co., Ltd.

BEHE doliAl Y-S =42 181
T : +82-(0)55-909-0041 F : +82-(0)55-909-0042




Leaders & Completist

7|E 2 EE E|AE

SWIFT FIX BRONZE KIT

L&C Corporation Co., Ltd.

BYEE dollAl T EE 242 181

Qty Description Order Code Qty Description Order Code
2 Tension Clamp Medium FX-CTMED 3 @16 x20 Stand Off FX-SO16/20
2 Tension Clamp Posts FX-CTPOST 3 @16 x30 Stand Off FX-SO16/30
2 Tension Clamp Posts FX-CTPOST 2 @16 x50 Stand Off FX-SO16/50
1 Lateral Pressure Pin FX-LATMED 2 @16 x100 Stand Off FX-S016/100
1 Height Adjuster FX-HEIGHT 3 @20 x20 Stand Off FX-5020/20
2 Slider Block FX-SLIDER 3 @20 x30 Stand Off FX-5020/30
2 Stand Off Flat Magnet FX-SO/MAG 2 @20 x50 Stand Off FX-S020/50
2 Stand Off Pin FX-SO/PIN 2 @20x100 Stand Off FX-S020/100
3 Cone - Nylon FX-CONE 1 6mm Allen Key
1 Plastic Case and Foam FX-CASE 2 Tommy Bar FX-TOOLS

1 Bottle Lubricant
SWIFT FIX SILVER KIT

Qty Description Order Code Qty Description Order Code
2 Tension Clamp Medium FX-CTMED 4 @16 x20 Stand Off FX-S016/20
1 Spring Clamp FX-SPRING 4 @16 x30 Stand Off FX-5016/30
3 Tension Clamp Posts FX-CTPOST 4 @16 x50 Stand Off FX-SO16/50
1 Spring Plunger FX-PLUNGER 2 @16 x100 Stand Off FX-5016/100
1 Support Stop Assy FX-SUP/STOP 4 @20 x20 Stand Off FX-5020/20
1 Lateral Pressure Pin FX-LATMED 4 @20 x30 Stand Off FX-5020/30
1 Height Adjuster FX-HEIGHT 4 @20 x50 Stand Off FX-5020/50
2 Slider Block FX-SLIDER /) @20x100 Stand Off FX-5020/100
2 Stand Off Flat Magnet FX-SO/MAG 2 Stand Off Pin FX-SO/PIN
1 Universal Joint FX-UNI/JOINT 4 Thumbscrew M8 FX-THUMB
1 Vertical Pillar FX-PILLAR/250 2 Special Capscrew M8x16
1 Toggle Clamp FX-TOG 2 Special Capscrew M8x20
3 Stand Off Support FX-SO/SUPP 1 6mm Allen Key FX-TOOLS
3 Cones Nylon FX-CONE 2 Tommy Bar
1 Plastic Case and Foam FX-CASE 1 Bottle Lubricant

SWIFT FIX KIT

Qty Description Order Code Qty Description Order Code
2 Tension Clamp Medium FX-CTMED 5 @16 x20 Stand Off FX-SO16/20
2 Spring Clamp FX-SPRING 5 @16 x30 Stand Off FX-5016/30
4 Tension Clamp Posts FX-CTPOST 5 @16 x50 Stand Off FX-S016/50
2 Spring Plunger FX-PLUNGER 3 @16 x100 Stand Off FX-S016/100
2 Support Stop Assy FX-SUP/STOP 5 @20 x20 Stand Off FX-5020/20
2 Lateral Pressure Pin FX-LATMED 5 @20 x30 Stand Off FX-5020/30
2 Height Adjuster FX-HEIGHT 5 @20 x50 Stand Off FX-5020/50
2 Vee Assembly FX-VEE 3 @20x100 Stand Off FX-5020/100
3 Slider Block FX-SLIDER 2 Stand Off Pin FX-SO/PIN
3 Stand Off Flat Magnet FX-SO/MAG 8 Thumbscrew M8 FX-THUMB
2 Universal Joint FX-UNI/JOINT 2 Special Capscrew M8x16
2 Vertical Pillar FX-PILLAR/250 2 Special Capscrew M8x20
1 Toggle Clamp FX-TOG 1 6mm Allen Key FX-TOOLS
3 Stand Off Support FX-SO/SUPP 2 Tommy Bar
6 Cones Nylon FX-CONE 1 Bottle Lubricant
1 Plastic Case and Foam FX-CASE

www.Inccorp.com

Inccorp1001@Inccorp.com

T : +82-(0)55-909-0041 F : +82-(0)55-9209-0042



Leaders & Completist

Hio|A E0|E & g4 2| 2E

L&C FIX BASEPLATE
Qty Description Order Code
1 300mm x 400mm Baseplate FX-BP300/400
1 400mm x 600mm Baseplate FX-BP400/600
L&C FIX BASEPLATE OPTIONS FX-BP300/400 FX-BP400/600
Qty Description Order Code
4 Baseplate Slide Caster FX-BPCASTER
1 Baseplate 2Joint Plate FX-BP2JOINT
1 Baseplate 4Joint Plate FX-BP4JOINT
2 Baseplate Pulls FX-BPPULLS
1 Work Locating Plate LH FX-LOCPLATE-L
1 Work Locating Plate RH FX-LOCPLATE-R
FX-BPCASTER FX-BP2JOINT FX-BP4JOINT
FX-BPPULLS FX-LOCPLATE-L FX-LOCPLATE-R

L&C Corporation Co., Ltd. www.Inccorp.com

AAMLE 2GiAl XHS 242 181 Inccorp1001@Inccorp.com
T : +82-(0)55-909-0041 F : +82-(0)55-909-0042




Leaders & Completist

L&C FIX BASEPLATE KIT & SWIFT FIX & A

L&C Corporation Co., Ltd. www.Inccorp.com
BYEE doijA| TE S 242 181 Inccorp1001@Inccorp.com
T :+82-(0)55-909-0041 F : +82-(0)55-909-0042



cheol
스탬프

cheol
스탬프

cheol
스탬프

cheol
스탬프

cheol
스탬프

cheol
스탬프


Leaders & Completist

L&C Special Fixtures

L&C Special Fixtures= 7 LH & HANZ = HE0H7| 022 1ots 8 XMots ME
OlLI Aol ZEds & Al717] oM B& HANME M Seotil AL

L&C Special Fixtures= X230 AN HEOZ 71N S EXM0|0 HAUSHA
[= A

=R+ s 4As0 Hg g 3 2 2HFel A
oz WxEn DEW| HAKE MR YL

L&C Corporation Co., Ltd. www.Inccorp.com

AAMLE 2GiAl XHS 242 181 Inccorp1001@Inccorp.com
T : +82-(0)55-909-0041 F : +82-(0)55-909-0042




Leaders & Completist
L&C Special Fixtures Optimized Design

L&C Special Fixtures= SEYH|S AEEAQ T2 H §|E0| 3| MEtE T2 HO[ ZO|
= oM ZEHH[S 2ed2 S0zt & = JEFE A S0 ME e

L&C Corporation Co., Ltd.
dYEE dojA| TIE S 242 181

www.Inccorp.com
Inccorp1001@Inccorp.com
T :+82-(0)55-909-0041 F : +82-(0)55-909-0042




Leaders & Completist

L&C Special Fixtures Advanced design

L&C Special Fixtures= 1 Z49| =%

SdS oot HF HAKe
SHEZL HAY SS AL S MES T2 Y2 7t 8N HE=2
7AE = A=E A5 M=ot

L&C Corporation Co., Ltd.
dYEE dojA| TIE S 242 181

www.Inccorp.com
Inccorp1001@Inccorp.com
T :+82-(0)55-909-0041 F : +82-(0)55-909-0042



Leaders & Completist

L&C Special Fixtures X 2 AFg|

* 2 FLEt2 10| A A| S L&C Corporation Co., Ltd.2| X| & XtAtO|0H REH =X 9l AL S 8L CL

L&C Corporation Co., Ltd. www.Inccorp.com

AAMLE 2GiAl XHS 242 181 Inccorp1001@Inccorp.com
T : +82-(0)55-909-0041 F : +82-(0)55-909-0042




Leaders & Completist

Contact

L&C Corporation Co., Ltd.
www.lnccorp.com

7|1=28HF

M3} :055-909-0041

T A : 055-909-0042
Inccorp1001@Inccorp.com

Fo . FH4HE AoljA 2GS 242 181

0|22 L & (010-2889-6428)
geunwoo.lee@Inccorp.com

O| A& X (010-4518-7210)
sangcheol.lee@Inccorp.com

3G 1% (010-8846-9466)
youngsup.kong@Inccorp.com

L&C
Corporation

a
o
oA

L&C Corporation Co., Ltd.

BdEE doliA| TEs =42 181

Zhc

www.Inccorp.com
Inccorp1001@Inccorp.com

T :+82-(0)55-909-0041 F : +82-(0)55-909-0042



